.,uu_ LKM], and the given

‘v - . p‘*’
|H‘m=&“ %

wggnﬂagm—n s v .
=4x+6,find NK. 5* ' § pretyex 4|

d QK = 5x — 9, find JQ. 2+5-5%1 4 O x> -Ex+IS

R m.:m..&x (x-sAx-2)

k!.nahmz»m n+8 mR:R_.mz .Nx-w,fx*nwmh
22 + 2and m/NKM = 14x, findx. - — 23X

(+ 21 .N&Lx )=0 D.-i @

/\,\‘
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12. Given: ATPX = AQPX =
AQRX = ATRX
Prove: TPOR is a thombus.

P,

. PROOF CDFG is an isosceles trapezoid with

bases CD and FG. Write a flow proof to prove
£DGF = /CFG.

. Given: HJ ||GK,
AHCK = AJKG,HG } JK
Prove: GHJK is an isosceles
trapezoid.

H J

L=

G K

. Given: ZYXP is an isosceles
trapezoid.

Prove: APWX is isosceles.




